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- PART ONE Read the following passage and answer the questions on the answer sheet.

OB E N TV B EITDOWTIL,
FEMEE LoD L1582 2 &2
TEFHADT, TTHKENET,



DI I T B EITDOWTIT,
FZEMEE EoOMED SBET 5 2 &
TEIHADT, TTHKBENET,

(Adapted from “What Makes a Good Therapy Dog?”, Psychology Today, 2022)



. In paragraph 2, which word is closest in meaning to “diversity”?
A. behavior

B. skill

C. therapy

D. variety

. In paragraph 3, which word is closest in meaning to “cultivated”?
A. compared |

B. developed

C. ignored

D. prevented

. In paragraph 4, which of the following statements is NOT true?

A. Controlling the movement of others is a desirable trait for sheep dogs.

B. Controlling the movement of others is an undesirable trait for therapy dogs.
C. Temperament is a learned behavior.

D. Temperament refers to a natural characteristic that dogs are born with.

. Which of the following is TRUE of the text?
A. Affiliative dogs are shy and nervous.

- B. Biddable dogs are popular as therapy dogs.
C. Gentle dogs protect their handlers.

D. Obedient dogs show Ieadership qualities.

. In paragraph 8, which of the following is implied?
A, Gestures and spokeﬁ directions together are the least effective method of
commanding therapy dogs.
B. Gestures are more effective than spoken directions as a method of commanding
therapy dogs.
C. Spoken directions alone are the most effective method of commanding therapy dogs.
D. Spoken directions are more effective than gestures as a method of commanding

therapy dogs.



6. Which of the following best describes the topic of the text?
A. The benefits of therapy dogs
B. The popularity of therapy dogs
C. The qualities of therapy dogs
D. The success of therapy dogs



PART TWO Read the following passage and answer the questions on the answer sheet.

COEHICEHEHINT VB XEICDOWTIL,
FEMELR EoMED» S8ET 5 2 &
TEFEHADT, TTHAENET,



ZDERFICEHE I N T W B LEITDOWTIE,
FEMEE LORMES S8+ 2 2 &
TXIEHADT, TTHEBENET,

(Adapted from Mike Berners-Lee, How Bad are Bananas?
The Carbon Footprint of Everything, 2011)



. In paragraph 1, which word is closest in meaning to “abused”?
A. disused

B. misused
C. overused
D.

underused

. In paragraph 2, which of the following is NOT true?

A. Inthe U.S., carbon dioxi.de has a greater impact than methane.
B. In the U.S., nitrous oxide has a greater impact than methane.
C. Inthe U.S,, the least potent gas has the greatest total impact.
D. In the U.S., the most potent gas has the least total impact.

. In paragraph 3, which of the follo_wing is NOT true?

A. COze expresses the equivalent amount of CO; that is produced by activities or items.
B. COqe includes the impact of all greenhouse gases.

C. COqe includes the impact of CO2 only.

D. COze¢ is a convenient way to describe the total impact of greenhouse gases.

. In paragraph 4, “toe-prints” refers to which of the following?
- A. A measure of an individual’s environmental footprint
B. A measure of a publisher’s environmental footprint
C. A measure that ignores some of the emissions caused by an activity or item

D. A measure that includes all emissions caused by an activity or item



PART THREE Describe some of the ways that people try to protect the environment
today. Explain your ideas in an English essay of about 150 words.



